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The space insertion wizard is structured to add missing spaces between words into the file. This
wizard is structured in a 3 step process to ensure appropriate Page range is selected, a missing
spaces check has been run to identify the areas and highlight them prior to insertion, and font
encodings have been scanned to ensure improper unciode hasn’t contributed to the combining
of words in the text elements.

If only a few text elements require spaces, single spaces can be added in manually through the
tag properties.
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e The European languages are members of the same family. Their separate existence is a myth.
For science, music, sport, etc, Europe uses the same vocabulary. The languages only differ in
their grammar, their pronunciation and their most common words. Everyone realizes why a new
common language would be desirable: one could refuse to pay expensive translators.

e To achieve this, it would be necessary to have uniform grammar, pronunciation and more
common words. If several languages coalesce, the grammar of the resulting language is more
simple and regular than that of the individual languages. The new common language will be
more simple and regular than the existing European languages. It will be as simple as Occidental;
in fact, it will be Occidental.

e To an English person, it will seem like simplified English, as a skeptical Cambridge friend of mine
told me what Occidental is. The European languages are members of the same family. Their
separate existence is a myth. For science, music, sport, etc, Europe uses the same vocabulary.
The languages only differ in their grammar, their pronunciation and their most common words.

e Everyone realizes why a new common language would be desirable: one could refuse to pay
expensive translators. To achieve this, it would be necessary to have uniform grammar,
pronunciation and more common words. If several languages coalesce, the grammar of the
resulting language is more simple and regular than that of the individual languages.
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